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m A @ 100 (1000) 100 1.0
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30-39M| 14 (148) 15 1.1
o1 40-49AM| 18 (179) 18 1.0
50-59A| 20 (196) 20 1.0
60-69A| 18 (172) 17 1.0
70A0] & 15 (143) 14 0.9
MEEEA 19 (187) 19 1.0
AN 6 (66) 7 1.1
TG Al 5 (46) 5 1.0
QIHEIA| 6 (59) 6 1.0
FFEYA 3 (28) 3 1.0
CHEE A 3 (26) 3 1.0
SUE A 2 (20) 2 1.1
o A 26 (262) 26 1.0
|
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SHEL 3 31 3 1.0
SEHHMS =8 5 47) 5 1.0
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ANEE 5 (51) 5 1.0
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60~ 69A| 180 90 90 172 85 87
70N Of A 151 65 86 143 60 83
27 189 89 100 187 89 98
1829 29 12 17 34 16 18
30394 33 15 18 32 16 16
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5059 36 18 18 33 16 17
6069 32 16 16 30 14 16
70M O] & 26 11 15 26 11 15
27 61 35 26 66 33 33
1829 6 4 2 10 5 5
30394 5 3 2 9 5 4
EARZ A 40~49KM| 7 4 3 11 6 5
50~59A| 15 9 6 12 6 6
60~ 69A| 14 7 7 13 6 7
70A| Of A 14 8 6 11 5 6
2 46 23 23 46 23 23
1829 7 4 3 7 4 3
30394 6 3 3 6 3 3
CH& YA 40~49K| 8 4 4 8 4 4
5059 10 5 5 10 5 5
60~ 69A 8 4 4 8 4 4
70M Ol 7 3 4 7 3 4
27 58 31 27 59 30 29
1829 12 5 7 10 5 5
3039 6 4 2 9 5 4
QIH A 40~49KM| 10 7 3 11 6 5
50~59A| 11 6 5 12 6 6
60~ 69A| 12 6 6 10 5 5
70M O] & 7 3 4 7 3 4
AA 29 15 14 28 14 14
18 29A 3 1 2 5 3 2
30394 5 3 2 4 2 2
ST YA 40~49K| 7 4 3 6 3 3
50~59A| 7 4 3 6 3 3
60~ 69A| 4 2 2 4 2 2
70M| O] 3 1 2 3 1 2
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1829 5 3 2 5 3 2
3039 4 2 2 4 2 2
CHE YA 40~49K| 4 2 2 4 2 2
5059 6 3 3 6 3 3
60~ 69A 4 2 2 4 2 2
70M O]& 3 1 2 3 1 2
AA 19 11 8 20 11 9
1829 2 1 1 3 2 1
30394 2 2 0 3 2 1
SAHE A 40~49K| 4 2 2 4 2 2
50~59A| 4 2 2 4 2 2
60~69A| 4 2 2 4 2 2
70M O] & 3 2 1 2 1 1
27 264 135 129 262 132 130
1829 38 22 16 44 23 21
30394 44 23 21 42 22 20
471 40~49K| 53 27 26 51 26 25
5059 53 27 26 53 27 26
60~ 69A| 44 22 22 42 21 21
70N Of A 32 14 18 30 13 17
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(3) Atdll5=(F) oIc} olct

® MY = (1000) (1000) 13 26 22 33 6 39 55 100

A At (506) (500) 13 26 22 34 5 39 56 100

°= of Xt (494) (500) 14 25 22 31 7 39 54 100

18-29AM (146) (163) 3 24 39 21 13 27 60 100

30-394 (140) (147) 3 27 26 34 9 31 61 100

o1 40-49M| (180) (179) 4 17 20 53 5 22 74 100

50-59A (203) (196) 13 24 17 44 3 36 61 100

60-69A| (180) (172) 26 27 18 25 4 53 43 100

70M| O] A (151) (143) 32 38 13 12 5 70 25 100

M2 (189) (187) 15 25 17 38 5 40 55 100

QIH/ A7 (322) (321) 1 25 22 36 6 36 58 100

/ME/5H (105) (104) 14 23 23 33 7 37 56 100

HEXY /et (101) (100) 6 7 38 45 4 13 83 100

/4= (96) 97) 25 41 16 13 5 66 29 100

2A2i/dE (144) (150) 14 30 26 23 7 44 49 100

Z9/R| = 43) 41 10 37 17 25 11 46 42 100

E o|gt (362) (352) 17 31 21 24 7 49 45 100

L Cis xHst ol & (621) (632) 11 23 24 37 6 33 61 100

RE/28H (17) (16) 22 29 12 31 6 51 43 100

S//a4 Y €l (31) 19 39 29 13 0 58 42 100

A (189) (184) 14 28 16 38 4 42 54 100

=zt (124) (125) 13 20 29 32 7 32 61 100

x4 Sto|EZEt (302) (304) 8 22 24 42 4 29 66 100

FH (187) (184) 21 31 17 23 8 52 40 100

SHd (63) 71 0 25 39 18 18 25 57 100

F2/E[Rl/7|E} (103) (101) 23 28 19 27 4 50 46 100

RE/2S8H @) ™) 0 0 0 100 0 0 100 100

249 AE (17) (218) 14 24 18 41 2 38 59 100

AFH A= =2 AT (422) (422) 14 27 23 31 5 42 54 100

ol stel AE (322) (322) 12 23 26 30 10 35 56 100

RE/REH (39) (39) 12 38 11 24 15 50 34 100

=0 2FE (287) (286) 0 5 31 61 3 5 92 100

=393l (377) (372) 33 52 9 2 4 85 11 100

Ay ot (17 (17) 6 0 37 53 4 6 90 100

x| HE A (29) (30) 0 7 27 67 0 7 93 100

M 220y (16) (16) 0 20 17 63 0 20 80 100

B (68) (66) 0 4 15 81 0 4 96 100

7|BPEE (14) (14) 26 16 12 33 13 42 45 100

Us/RE/REH| (192 (200) 2 20 36 23 18 22 60 100

Rl (268) (264) 9 30 55 4 11 85 100

ol Are =c (309) (315) 27 22 39 7 33 61 100

2 (317) (317) 30 38 17 12 3 68 30 100

RE/REH (106) (104) 14 28 19 19 21 42 37 100

HIEA| ER (770) (762) 17 26 18 36 3 43 54 100

Ex o tsstH &8 (170) (177) 3 25 38 21 13 29 58 100

HEE (53) (54) 0 19 36 25 20 19 61 100

RE/REH ) @ 0 13 16 0 72 13 16 100

agew 3 E7t (394) (390) 34 66 0 0 0 100 0 100

%;° 23 "ot (545) (549) 0 0 41 59 0 0 100 100

DE/R8E 61) 61) 0 0 0 0 100 0 0 100

waes| TN | G | 2 3 % e L w
gt o= o2

DE/RSH (62) (63) 0 14 18 3 65 14 21 100

2or = HE-og X (449) (445) 29 49 14 4 78 18 100

ol ,f!’ | R0y AX (466) (469) 0 5 30 61 4 5 91 100

£/28H (85) (86) 1 18 25 26 30 19 51 100
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® M = (1000) (1000) 13 27 25 29 6 40 54 100

o =R} (506) (500) 12 28 23 32 5 40 55 100

of Xt (494) (500) 14 26 27 27 7 39 53 100

18-29A (146) (163) 1 26 42 18 12 27 61 100

30-394 (140) (147) 4 26 30 32 9 30 62 100

o1 40-49M| (180) (179) 4 18 25 46 6 23 71 100

50-59A| (203) (196) 15 22 18 42 2 37 60 100

60-69A| (180) (172) 22 32 21 22 3 55 43 100

70M[0] & (151) (143) 31 40 14 9 7 71 22 100

M2 (189) (187) 15 23 25 32 5 37 57 100

QIH/ A7 (322) (321) 1 24 25 34 5 36 59 100

™/MB/5H (105) (104) 13 29 27 27 4 42 54 100

HEXH /et (101) (100) 6 11 36 39 9 17 74 100

/8= (96) 97) 21 45 13 13 7 67 26 100

2244 (144) (150) 12 34 24 23 7 46 47 100

ZR/MF 43) 41) 12 36 20 23 9 48 43 100

IE ofst (362) (352) 18 31 23 21 7 49 44 100

L CHEt xHst of4f (621) (632) 10 25 27 34 6 34 60 100

RE/RSHY (17) (16) 22 23 6 31 18 45 37 100

S/e/a44 Y (31) (31) 26 42 13 19 0 68 32 100

A (189) (184) 14 29 18 34 5 43 52 100

=5zt (124) (125) 9 28 28 31 5 37 58 100

o] SIo0|EZ et (302) (304) 8 21 32 37 3 28 68 100

FH (187) (184) 23 30 18 19 10 53 37 100

shd (63) 71 0 25 42 19 14 25 61 100

F2/E[Rl/7|E} (103) (101) 17 33 18 23 9 50 41 100

RE/28H M ™) 0 0 0 100 0 0 100 100

242 AT (217) (218) 14 26 17 42 2 39 59 100

AMH A= 9 As (422) (422) 13 29 27 27 4 42 54 100

ol 52l AS (322) (322) 12 24 28 24 11 36 52 100

RE/R8H (39) (39) 10 41 18 16 15 50 34 100

=0 2FEE (287) (286) 0 4 34 57 5 5 90 100

= 0loE (377) (372) 32 55 7 2 5 87 9 100

Aol (17 (17) 6 6 36 52 0 12 88 100

X|X| &t HE A (29) (30) 0 7 35 59 0 7 93 100

M 22024 (16) (16) 0 12 42 46 0 12 88 100

ESE ey (68) (66) 0 3 18 78 2 3 95 100

7|erde (14) (14) 28 7 42 19 5 35 61 100

AB/2ZE/RSH| (192 (200) 1 23 42 18 15 24 61 100

Rl (268) (264) 10 35 50 3 12 85 100

ol A s (309) (315) 5 28 27 33 7 33 61 100

2 (317) (317) 30 40 13 13 4 70 27 100

RE/REH (106) (104) 9 29 26 14 22 38 40 100

HIEA| &8 (770) (762) 16 28 20 33 4 44 53 100

e oa | SOHEH FE (170) a77) 3 30 42 16 10 32 57 100
Ex o _

HER (53) (54) 2 10 46 21 21 12 67 100

RE/RSH ) @ 0 28 0 0 72 28 0 100

amew —EE E;[ (394) (390) 33 61 4 0 2 94 4 100

@7} 2Y 3 (545) (549) 0 5 40 53 2 5 93 100

RE/REH (61) 61) 0 9 21 3 67 9 25 100

28 war %ii E,E,: (401) (397) 32 68 0 0 0 100 0 100

=7} ARE (537) (540) 0 0 46 54 0 0 100 100

DE/RSH (62) (63) 0 0 0 0 100 0 0 100

2ot =4 FE-olE XY (449) (445) 28 52 12 4 5 79 16 100

ol 5 S| ME.ofg AF| (466) (469) 1 6 35 55 3 7 90 100

DE/RSH (85) (86) 1 14 37 17 30 15 55 100




[E 3] BERX =
[23] HYEHAME Btg & o= BES RXBHUNN? 259 =22 S22 A&
| X

K=}
=
[E3-1] 28, o= oA =50I2t: H 2Z0| 7t& Hel7te? F4¢ =22 =2 ASL O

INEE | 1B | gay mme wu AW aze zz 12 se  eB

Base=1A MAT | oo |87 @ mog g oy ag S mgo =g
) Atdll () oy olty

® M = (1000) (1000) 29 37 2 3 2 7 1 19 1 100
o = (506) (500) 25 38 2 5 1 8 1 19 0 100
of K} (494) (500) 32 37 1 1 2 5 2 19 1 100
18-29AM (146) (163) 26 20 2 2 1 2 1 45 1 100
30-394 (140) (147) 29 29 1 3 3 2 2 31 0 100
o1 40-49M| (180) (179) 40 26 2 3 2 11 2 13 1 100
50-59A| (203) (196) 34 34 3 6 1 11 2 8 1 100
60-69A| (180) (172) 24 53 2 2 1 7 1 10 1 100
70M0] & (151) (143) 15 64 1 1 1 3 1 11 2 100
M2 (189) (187) 26 38 2 4 2 4 2 23 0 100
QIH/47| (322) (321) 34 31 2 4 2 6 1 18 1 100
d/MB/5H (105) (104) 30 36 4 1 0 7 2 21 0 100
HEXH /et (101) (100) 49 10 1 3 2 14 1 19 1 100
o/8= (96) 97) 14 61 0 1 0 4 1 16 2 100
2208 (144) (150) 17 49 1 2 2 8 2 18 1 100
ZA/MF 43) @1 20 54 7 2 2 0 0 14 0 100
nE o[gt (362) (352) 29 47 2 3 1 4 1 13 1 100
ElE] oist xHst ol 4 (621) (632) 28 32 2 3 2 8 2 23 0 100
RE/2S8H (17) (16) 37 27 0 0 0 0 0 13 23 100
S/e/a44 Y (31) (31) 16 55 3 10 3 3 0 10 0 100
R (189) (184) 28 46 1 3 1 8 1 11 0 100
=FZat (124) (125) 29 30 2 4 1 8 2 23 0 100
<o ol0|EZ 2t (302) (304) 33 29 2 4 2 9 1 20 0 100
e T (187) (184) 25 49 1 1 1 5 2 14 3 100
SHd (63) 71 23 17 1 0 0 4 2 53 1 100
F2/E[Rl/7|E} (103) (101) 30 44 4 1 2 2 2 14 2 100
RE/F8H ™M 1) 0 0 0 0 0 0 0 100 0 100
a2 AT (17) (218) 28 36 1 6 2 12 1 14 0 100
ANA A= =9 As (422) (422) 28 40 2 1 2 5 2 19 0 100
Q14 stel AE (322) (322) 31 34 2 3 1 5 2 22 1 100
RE/R8H (39) (39) 20 44 0 0 0 2 0 26 7 100
Heoolsg (287) (286) 100 0 0 0 0 0 0 0 0 100
20|0|3 (377) (372) 0 100 0 0 0 0 0 0 0 100
SAMYo| (17 (17) 0 0 100 0 0 0 0 0 0 100
|| S R (29) (30) 0 0 0 100 0 0 0 0 0 100
M 22024 (16) (16) 0 0 0 0 100 0 0 0 0 100
EE N (68) (66) 0 0 0 0 0 100 0 0 0 100
7|erde (14) (14) 0 0 0 0 0 0 100 0 0 100
Us/EE/REY| (192 (200) 0 0 0 0 0 0 0 9% 4 100
W (268) (264) 57 12 3 2 1 12 0 14 0 100
ol As s (309) (315) 26 27 1 4 3 9 1 28 0 100
EES (317) (317) 9 69 2 4 1 2 2 11 0 100
RDE/R8E (106) (104) 25 35 0 0 2 1 1 29 7 100
HIEA| &8 (770) (762) 32 42 1 3 1 8 2 10 0 100
=x os 7s5tH &8 (170) (177) 18 25 2 3 2 2 1 46 2 100
T HIE®E (53) (54) 17 11 6 3 2 1 0 57 3 100
DE/28E @ @) 15 40 0 0 0 0 0 31 15 100
ameq 3 E7t (394) (390) 4 81 0 1 1 1 2 10 2 100
%‘7‘}° 28 gt (545) (549) 48 8 3 5 2 11 1 22 0 100
DE/28E (61) 61 15 23 1 0 0 0 3 54 4 100
2 wars EHE% tc',*fok 401) (397) 3 81 1 0 1 1 1 11 1 100
P ARE e (537) (540) 48 6 3 5 3 12 2 22 0 100
RE/REH (62) (63) 22 27 0 0 0 2 1 43 6 100
2orf £ FE-oE X|& (449) (445) 7 75 0 1 0 0 1 14 1 100
ol Al YE-olY A (466) (469) 53 5 3 5 3 13 2 16 0 100
RE/REH (85) (86) 1 17 1 0 2 2 1 59 5 100




(E 4] &8 0 2
[B4] SHEHAME 2E 48 XNHE I3/ AN EmStE SZ0|HL 7 FHSIX| Fod SZo|dL 7k

s

(Bt : %)

=H2H @35 ® @
ZMtE | B £uns )| g2 s HEES ZN Raucy
Base=T A Ated = HE HEEA| 7ts5tH Eugt Fagt TS S Xaee A
@ |Mels@)| sEg =E® gz0  aze (@@ =S/FEN
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® M = (1000) | (1000) 76 18 3 3 5 1 100

o At (506) (500) 76 16 3 4 7 1 100

o At (494) (500) 76 19 2 2 4 1 100

18-29AM (146) (163) 49 37 5 8 13 1 100

30-394 (140) (147) 57 31 5 5 10 2 100

012y 40-49M| (180) (179) 75 21 2 1 3 1 100

= 50-59A (203) (196) 90 8 1 1 2 0 100

60-69A| (180) (172) 90 7 1 1 2 0 100

70M| 0] A (151) (143) 93 4 1 1 3 1 100

ME (189) (187) 75 20 2 3 5 1 100

QIH/47| (322) (321 77 17 3 4 6 1 100

d/MB/58 | (105) (104) 77 19 2 2 3 0 100

HEXH /et (101 (100) 87 8 2 2 4 2 100

/4= (96) 97 76 19 2 2 4 1 100

BA/2/EE | (144) (150) 71 22 5 2 7 0 100

ZA/MF (43) 41 73 15 5 4 9 2 100

nE o|gt (362) (352) 81 12 3 3 6 1 100

L ois x5t o4 | (621) (632) 74 21 2 3 5 0 100

RE/F8H (17) (16) 74 6 6 14 20 0 100

S//54 Y (31) (31) 87 13 0 0 0 0 100

R R (189) (184) 75 16 4 3 7 2 100

=5zt (124) (125) 75 21 2 2 5 0 100

<o ol0|EZ et (302) (304) 80 17 1 2 3 0 100

e FH (187) (184) 84 11 2 3 4 1 100

s (63) 71 43 42 8 7 15 0 100

BR/E|Zl/7|EF | (103) (101 76 15 4 3 7 2 100

RE/28H 1M ™) 0 0 0 100 100 0 100

249 AE (217) (218) 84 13 2 1 3 0 100

B3NN AS =9 AT (422) (422) 76 17 3 3 7 0 100

Q14 52 AB (322) (322) 72 21 3 3 6 1 100

RE/28H (39) (39) 66 24 0 5 5 5 100

Hgolisg (287) (286) 85 11 1 2 3 0 100

=395l (377) (372) 86 12 1 0 2 1 100

= AR ot a7 17 64 18 18 0 18 0 100

X x| 7 =Rk (29) (30) 78 17 6 0 6 0 100

M 22024 (16) (16) 69 25 0 6 6 0 100

ESE ey (68) (66) 95 4 1 0 1 0 100

7|Erge (14) (14) 86 14 0 0 0 0 100

AB/EZE/REH| (192) (200) 40 42 6 10 16 2 100

N (268) (264) 84 14 1 1 2 0 100

ol s s (309) (315) 70 26 2 3 5 0 100

2 (317) (317) 82 11 5 2 7 0 100

nE/2SE (106) (104) 58 25 2 9 11 6 100

HICA| ER (770) (762) 100 0 0 0 0 0 100

exq oa | ISOHE FE | (170) (77) 0 100 0 0 0 0 100
EE o _

HER (53) (54) 0 0 49 51 100 0 100

RE/R2S8HE @ @) 0 0 0 0 0 100 100

amg —EE E;{ (394) (390) 84 13 2 1 3 0 100

7} 2Y 3 (545) (549) 75 19 3 3 6 0 100

DE/RSH 61) 61) 38 37 9 8 17 8 100

28 urary %HE% E';? (401) (397) 84 14 1 0 2 0 100

=7} 2XE 8L | (637 (540) 75 19 3 4 7 0 100

RE/REH (62) (63) 45 29 7 11 18 8 100

2orf =M Ei—-@% X (449) (445) 78 18 2 3 0 100

ol 4] HE.0lg AX | (466) (469) 82 14 2 1 3 0 100

£/28H (85) (86) 34 34 8 18 26 6 100




[E 5] XY+ =32 FE
[25] ddEHME 2= 48 40| Ch3at 22 YETEE X2TCHY, X997 I dAH0M o= FE = 200H FESAIASLIN

2349 202 Ec2lABLL

n

=7} X|X|

Base=TH| e | ng |9EY 3 =M o uze 23 D0 de 2y
=g =1 ol Y O 24 g o 28E

) Atdll () oy olty
® M = (1000) (1000) 31 35 1 2 1 4 2 20 4 100
A At (506) (500) 30 33 2 3 1 5 2 20 4 100
°= of K} (494) (500) 31 37 1 1 2 4 1 19 5 100
18-29A (146) (163) 21 17 2 1 0 1 2 48 8 100
30-394 (140) (147) 35 24 0 3 2 2 2 29 4 100
o2 40-49M| (180) (179) 43 23 1 2 2 8 2 16 3 100
= 50-59A (203) (196) 41 32 4 3 1 5 1 10 4 100
60-69A| (180) (172) 26 52 1 1 2 5 3 9 1 100
70M0] & (151) (143) 15 65 1 1 1 3 1 8 7 100
M2 (189) (187) 31 33 1 2 2 2 2 20 5 100
/A7 (322) (321) 35 29 2 2 1 4 1 23 4 100
/ME/5H (105) (104) 37 35 2 0 2 6 2 15 2 100
HEXH /et (101) (100) 45 14 2 1 2 9 3 17 8 100
/8= (96) 97) 13 57 2 0 0 2 1 22 4 100
2208 (144) (150) 23 44 1 2 1 5 2 17 5 100
ZA/M T 43) 41 15 50 2 5 2 2 0 18 5 100
1E o[s} (362) (352) 27 47 2 1 1 4 1 14 4 100
L Chet xjst of & (621) (632) 33 28 1 2 2 4 2 23 4 100
RE/R8H (17 (16) 30 40 0 0 0 0 0 8 22 100
S/e/a44 Y (31) (31) 19 52 6 3 3 3 0 10 3 100
e (189) (184) 32 41 1 3 2 5 1 13 3 100
=FZat (124) (125) 31 30 1 2 0 6 2 19 9 100
x| SHO|EZEL (302) (304) 37 26 1 2 2 5 2 23 2 100
e =8 (187) (184) 25 51 1 0 1 4 2 10 6 100
SHd (63) 71) 26 9 4 1 0 0 2 52 7 100
F2/E[Rl/7|E} (103) (101) 28 41 2 1 1 1 1 21 4 100
RE/R8H ™M ™1 0 0 0 0 0 0 0 100 0 100
A AS (217) (218) 36 31 1 3 2 6 1 16 3 100
AN A= =2 AT (422) (422) 30 38 2 1 2 4 2 18 2 100
Q14 s5tel AB (322) (322) 30 32 2 2 1 3 1 24 6 100
RE/REH (39) (39) 20 47 0 0 0 2 0 14 17 100
Heoosg (287) (286) 82 2 1 0 0 3 0 10 2 100
0o (377) (372) 0 88 0 0 0 0 1 7 3 100
SAMYo| (17) (17) 12 0 60 0 6 0 0 22 0 100
X|X| &t THz Al (29) (30) 28 6 3 48 0 0 0 14 0 100
N 22024 (16) (16) 12 6 0 5 63 0 0 13 0 100
A (68) (66) 52 0 0 0 0 44 1 2 2 100
7|Erde (14) (14) 17 5 0 0 0 0 58 6 14 100
Us2/RE/R8E| (192 (200) 12 6 1 1 0 1 2 66 11 100
Rl (268) (264) 58 12 3 0 1 8 1 15 2 100
ol A3 s (309) (315) 31 24 1 3 2 4 2 29 4 100
2 (317) (317) 12 65 1 2 1 1 3 13 2 100
DE/RSH (106) (104) 19 35 0 0 1 3 1 26 16 100
HEAl BB (770) (762) 35 40 1 2 1 5 1 11 3 100
=x os tsstH Fx (170) 77) 17 21 1 1 2 2 3 48 6 100
HEE (53) (54) 23 9 4 3 2 0 3 53 3 100
RE/R8H ) @ 30 12 0 0 0 0 0 0 57 100
axe 38 "It (394) (390) 2 79 0 0 0 1 2 12 3 100
%;° 23 "ot (545) (549) 53 6 2 3 2 7 1 23 3 100
DE/28E (61) 61) 18 15 0 0 0 0 2 39 26 100
25 e =HE ¢ (4071) (397) 2 79 0 0 1 1 2 11 4 100
°%‘7’}° S| HRE Y (537) (540) 54 5 2 3 2 7 2 23 2 100
DE/RSH (62) (63) 17 16 0 0 0 0 2 43 22 100
2orf = FE-olE XY (449) (445) 6 72 0 1 0 0 2 16 3 100
ol &T S "Eog dx (466) (469) 59 4 3 3 2 8 1 17 3 100
£/28H (85) (86) 10 10 0 0 3 1 3 54 18 100




[Z 6] HlZCHE 22og 58
[26] 1O, bR 2822 M7oIME of= B0l SESAINSUIN REY wo= 2eja|AsLT

(Bt : %)

X| X

N SRR | EBUE8A 200 =u gy gze xz L e es »

= . o et ojzf @ golg MY O] 24 A o dYo|  28F

(3) A=) | o oY aict

® M = (1000) (1000) 17 28 2 4 2 14 2 25 6 100
A At (506) (500) 15 28 2 6 2 17 2 23 5 100
°= o K} (494) (500) 20 29 2 2 3 11 2 26 6 100
18-29A (146) (163) 16 11 1 5 1 3 2 54 8 100
30-394 (140) (147) 23 22 1 4 3 7 2 36 4 100
o1 40-49M| (180) (179) 20 18 3 6 2 24 2 21 5 100
50-59A (203) (196) 19 25 4 6 2 27 2 11 5 100
60-69A| (180) (172) 15 44 3 1 3 13 3 14 4 100
70| 0| A (151) (143) 10 54 1 2 3 5 1 16 9 100
M2 (189) (187) 16 27 2 6 2 16 2 21 9 100
QIH/A7| (322) (321) 20 22 2 5 3 14 1 27 6 100
/ME/5H (105) (104) 21 29 4 0 2 16 2 22 3 100
HEXH /et (101) (100) 29 9 1 4 4 22 2 22 7 100
/8= (96) 97) 5 51 2 2 1 6 5 24 4 100
2208 (144) (150) 13 40 1 2 1 13 2 27 1 100
2/ 43) [Z8)) 10 36 4 5 7 4 0 28 7 100
1E o[g} (362) (352) 18 38 2 3 2 9 2 21 7 100
L CHEt xHst of4f (621) (632) 17 23 2 5 3 17 2 27 5 100
RE/F8H (17) (16) 24 27 6 0 0 0 0 21 22 100
S/e/a44 Y (31) (31) 10 42 3 13 0 6 0 16 10 100
A (189) (184) 18 35 2 5 1 17 1 16 4 100
=zt (124) (125) 17 28 3 5 2 15 1 22 9 100
X104 SIO|EZ et (302) (304) 21 20 2 6 4 19 1 25 3 100
o= =8 (187) (184) 16 40 2 0 3 9 3 18 9 100
SHd (63) 71 16 8 0 1 1 6 4 60 4 100
F2/E[Rl/7|E} (103) (101) 13 31 2 3 2 8 3 31 7 100
RE/F8H ) ™) 0 0 0 0 0 0 0 100 0 100
&2 AE (217) (218) 15 29 1 6 2 23 1 18 6 100
ANA A= =9 AT (422) (422) 19 30 2 2 4 12 3 24 3 100
Q14 52l AB (322) (322) 16 25 2 5 1 12 2 30 7 100
RE/REH (39) (39) 20 34 3 2 0 2 0 21 17 100
=0 2FE (287) (286) 51 1 1 3 1 24 1 15 5 100
=019j3 (377) (372) 1 72 0 1 2 0 2 16 5 100
SAMYoI (17) (17) 6 0 76 0 0 0 0 12 5 100
XX HE A (29) (30) 6 0 0 78 0 16 0 0 0 100
N 22024 (16) (16) 0 6 0 12 57 6 0 19 0 100
A (68) (66) 9 0 0 0 0 89 1 1 0 100
7|erde (14) (14) 5 7 0 0 6 0 61 14 7 100
Us2/2E/R8EH| (192 (200) 7 5 2 1 1 3 1 69 10 100
Rl (268) (264) 32 8 4 3 2 29 1 17 5 100
ol AB s (309) (315) 17 22 2 5 3 14 2 32 3 100
B (317) (317) 7 54 1 5 2 4 3 19 5 100
DE/RSH (106) (104) 13 22 2 0 1 3 2 41 17 100
HICA| B8 (770) (762) 20 33 2 4 3 17 2 15 5 100
=5 o tsstH E8 (170) (177) 9 15 3 3 2 4 1 55 7 100
HEE (53) (54) 8 10 6 3 0 0 1 67 6 100
RE/R8H @ @ 0 12 0 0 0 0 0 44 44 100
amgy =38 87 (394) (390) 1 65 1 1 2 1 3 21 5 100
%;° 23 "ot (545) (549) 29 5 3 6 3 24 2 24 5 100
DE/28E (61) 61) 18 1 0 1 0 0 57 16 100
28w =HE g (401) (397) 1 65 1 1 2 1 3 20 6 100
%‘;} S| HRE WY (537) (540) 30 3 3 6 3 25 2 24 4 100
RE/RSH (62) (63) 13 10 0 0 1 2 0 60 14 100
2ot =M FE-ole X (449) (445) 5 60 1 2 2 0 3 22 5 100
ol4] FE-og A (466) (469) 31 3 3 6 3 29 1 19 4 100
E/58H (85) (86) 6 1 1 0 2 1 2 71 16 100




(& 7] 22Cf &M Q1A
[B7] 2 480 XHE =3|o/d Mo st Lt T 7tX] =& 50| o= =0 =20|2t= o 30| 7k L 7t?

(Bt : %)

T2t 7VEek IMoWS O FSIEE MEol OIS AT & YzE  mE/
Base=71 4| Abej 58 MEot a_cl':rooﬂ Eag f.m(?r stot o_orrcroﬂ Cf:'IEE l)_\lo.ii_l(;i:_ éﬁ:f B mgncr A
m A m (1000) (1000) 45 47 9 100
A At (506) (500) 43 49 8 100
°= o Xt (494) (500) 46 45 9 100
18-29A (146) (163) 33 48 20 100
30-394 (140) (147) 40 47 14 100
o1z 40-49M| (180) (179) 32 63 5 100
50-59A| (203) (196) 38 58 4 100
60-69A (180) (172) 58 39 2 100
70M[0] & (151) (143) 71 20 9 100
ME (189) (187) 43 48 9 100
QIH/47| (322) (321) 39 52 9 100
/MBS /58 (105) (104) 41 52 8 100
HEX A Zz/Met (101) (100) 21 69 10 100
/4= (96) 97) 76 20 4 100
2244 (144) (150) 52 39 9 100
ZA/MF 43) @1 59 32 10 100
nE o|gt (362) (352) 55 36 9 100
I oist xHst ol 4 (621) (632) 39 54 8 100
RE/RSH (17) (16) 33 24 43 100
S/e/44 Y (31) (31) 74 26 0 100
A (189) (184) 44 47 8 100
222t} (124) (125) 38 51 11 100
9 slo|EZE} (302) (304) 37 56 6 100
FH (187) (184) 57 34 9 100
SHd (63) 71 30 52 17 100
F2/EIRl/7|EF (103) (101) 53 39 8 100
RE/R8H ™ ™) 0 0 100 100
A2 AS (217) (218) 43 53 3 100
ANN A= =9 AT (422) (422) 46 46 8 100
ol 52l AB (322) (322) 42 47 11 100
RE/RSH (39) (39) 52 25 23 100
H=ojolsg (287) (286) 10 86 3 100
=398l (377) (372) 89 7 4 100
=M oI (7) (17) 12 82 6 100
XX JHE e (29) (30) 17 83 0 100
M =202 (16) (16) 12 77 11 100
B (68) (66) 3 95 3 100
7|BPEE (14) (14) 42 51 8 100
US/RE/REH| (192) (200) 33 39 28 100
RlE (268) (264) 19 79 2 100
0| Ass s (309) (315) 39 53 8 100
EES (317) (317) 72 22 6 100
RE/RSH (106) (104) 41 23 37 100
HIEA| &8 (770) (762) 46 51 4 100
=5 o st B8 (170) (177) 46 37 17 100
H&HE (53) (54) 28 30 42 100
RE/R8H @ @ 28 0 72 100
axmed =8 &7t (394) (390) 89 7 4 100
%;° 2 Hit (545) (549) 14 78 8 100
RE/REH (61) 61) 30 29 41 100
2w x%iﬁ E,f,: 4o1) (397) 89 8 3 100
w7} AZE (537) (540) 13 78 9 100
RE/RSH (62) (63) 33 25 41 100
220} A Ei—-@% X (449) (445) 100 0 0 100
ol A ME.0{C AR (466) (469) 0 100 0 100
- RE/mgg (85) (86) 0 0 100 100
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[# 8] #2738 =
(28] MY EHHME HE0UFZL £ 2 SHIFYO| T3] OfEH HZistuL 7t

(Bt - %)

zuge | Asn | L L2 L. o _
Base=TI5| Nae | A8 | gD Goh  mot msma 98¢ o) Gre) | 7
@ || EUR HOS  EHOL FEHL 288 @@ (@+@)
ALt UL
m MM @ (1000) (1000) 8 25 27 26 15 32 53 100
A At (506) (500) 9 23 28 26 13 32 54 100
°= o K} (494) (500) 6 26 27 25 17 32 51 100
18-29A (146) (163) 3 29 40 9 19 32 49 100
30-394 (140) (147) 4 26 39 12 20 30 50 100
o1 40-49M| (180) (179) 11 30 23 21 15 41 44 100
50-59A (203) (196) 14 24 19 34 9 38 53 100
60-69A| (180) (172) 8 20 22 39 12 27 61 100
70M[0] & (151) (143) 3 18 24 37 18 21 61 100
M2 (189) (187) 8 23 30 28 11 31 58 100
QIH/A7| (322) (321) 1 22 26 25 16 33 52 100
/ME/5H (105) (104) 6 35 22 23 13 42 45 100
HEXH /et (101) (100) 8 34 28 19 11 42 47 100
/8= (96) 97) 7 16 24 31 22 23 55 100
2208 (144) (150) 2 24 30 25 18 27 56 100
2/ (43) [Z8)) 2 24 28 27 19 26 55 100
IE o|st (362) (352) 4 25 22 31 16 30 54 100
L CHEt xHst of4f (621) (632) 9 24 30 23 13 34 53 100
RE/F8H (17) (16) 17 12 6 1 54 29 17 100
S/e/a44 Y (31) (31) 3 16 26 45 10 19 71 100
R (189) (184) 9 20 23 38 10 29 61 100
=FZat (124) (125) 9 26 21 23 21 36 43 100
X104 Sto|EZ 2t (302) (304) 9 27 32 20 13 35 51 100
o= =8 (187) (184) 5 22 24 32 16 28 56 100
SHd (63) 71 3 37 39 5 17 40 43 100
F2/E[Rl/7|E} (103) (101) 8 22 28 21 20 31 49 100
RE/F8H ) ™M 0 0 0 0 100 0 0 100
A2 AS (17) (218) 10 28 24 29 9 38 53 100
ANA A= =9 AT (422) (422) 8 25 28 26 13 34 54 100
Q14 52l AB (322) (322) 6 21 30 23 20 26 53 100
RE/28H (39) (39) 5 23 18 17 37 28 35 100
=0 2FE (287) (286) 18 44 25 4 9 62 28 100
=019j3 (377) (372) 1 12 23 50 14 13 73 100
SAMYoI (17) (17) 0 12 30 47 10 12 78 100
XX HE A (29) (30) 7 18 32 34 9 25 66 100
M =202 (16) (16) 0 23 24 54 0 23 77 100
A (68) (66) 23 45 25 5 3 67 30 100
7|erde (14) (14) 0 8 21 34 38 8 55 100
Us2/2E/R8EH| (192 (200) 2 17 40 11 30 19 51 100
Rl (268) (264) 14 38 28 12 8 52 40 100
ol AB s (309) (315) 8 25 32 19 17 33 51 100
B (317) (317) 2 16 23 47 12 18 70 100
DE/RSH (106) (104) 7 16 25 16 36 23 41 100
HICA| B8 (770) (762) 10 25 25 29 11 35 54 100
=5 o tsstH E8 (170) (177) 1 23 38 14 24 24 52 100
HEE (53) (54) 1 23 32 13 31 24 45 100
RE/R8H @ ) 0 16 0 12 72 16 12 100
amgy =8 8% (394) (390) 1 14 22 49 13 15 72 100
%;° 23 "ot (545) (549) 13 33 32 11 12 45 43 100
DE/28E (61) 61) 17 17 6 57 20 23 100
28w =HE g (401) (397) 1 15 23 49 12 16 72 100
%‘;} S| HRE WY (537) (540) 13 33 32 11 12 46 43 100
RE/RSH (62) (63) 1 14 17 3 65 15 20 100
2ot =M FE-ole X (449) (445) 2 14 26 45 13 16 71 100
ol Al HE-og A (466) (469) 14 37 28 10 11 51 38 100
£/28% (85) (86) 1 12 28 9 50 13 37 100
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[_F,l__g] A AH L

oo

[(# 9] 28T SHE

o
HAME =eloale

o
S
=2

H SHICYol s of A Mzt

B} =00y

(Bt - %)

}_A}-Ql_l-ﬁ 7 §Z}C |:|®o 7:}*@5 XI—E@- 1=y D@o =
Base =215 T T I H N =  l ep  R R
@ | Aea| S HolM HOs FRAD 28T @@ (040
t UL
® M = (1000) (1000) 12 31 26 16 15 43 42 100
A At (506) (500) 13 30 26 18 14 43 43 100
°= o K} (494) (500) 12 32 26 15 16 44 41 100
18-29A (146) (163) 3 31 36 10 20 34 46 100
30-394 (140) (147) 6 26 42 10 16 32 52 100
o1 40-49M| (180) (179) 11 21 27 24 17 32 51 100
50-59A (203) (196) 13 29 22 24 13 42 46 100
60-69A| (180) (172) 18 35 15 20 12 52 35 100
70M[0] & (151) (143) 24 47 13 4 12 70 17 100
M2 (189) (187) 14 25 31 16 14 38 47 100
QIH/A7| (322) (321) 11 30 26 16 17 41 42 100
/ME/5H (105) (104) 11 37 23 16 14 48 39 100
HEXH /et (101) (100) 5 20 36 24 15 25 60 100
/8= (96) 97) 23 40 13 12 13 62 25 100
228 (144) (150) 10 38 23 16 13 48 39 100
2/ (43) [Z8)) 22 35 18 9 16 57 27 100
IE o|st (362) (352) 16 36 20 14 14 52 34 100
L Cis xHst ol & (621) (632) 10 28 29 18 15 38 47 100
RE/F8H (17 (16) 16 32 12 12 28 48 24 100
S/e/a44 Y (31) (31) 16 48 19 10 6 64 29 100
A (189) (184) 19 31 17 18 14 50 35 100
=FZat (124) (125) 10 28 25 18 19 38 43 100
X104 Sto|EZ 2t (302) (304) 9 24 36 18 12 33 54 100
o= =8 (187) (184) 17 33 20 14 16 50 34 100
SHd (63) 71 3 37 29 10 21 40 39 100
F2/E[Rl/7|E} (103) (101) 10 39 21 15 15 49 36 100
RE/F8H ™M ™) 0 100 0 0 0 100 0 100
&2 AE (217) (218) 13 28 25 24 9 41 50 100
ANA A= =9 AT (422) (422) 14 33 27 14 12 47 41 100
ol stel AE (322) (322) 10 30 25 15 20 40 40 100
RE/REH (39) (39) 12 31 15 10 33 43 24 100
=0 2FE (287) (286) 2 15 35 35 12 17 70 100
20|0|3l (377) (372) 30 50 8 2 9 81 10 100
SAMYoI (17) (17) 6 30 37 12 16 36 48 100
XX 7Hz Al (29) (30) 0 26 54 13 7 26 67 100
M =202 (16) (16) 0 39 44 12 6 39 55 100
A (68) (66) 3 9 28 45 14 12 74 100
7|erde (14) (14) 0 29 23 26 23 29 48 100
Us2/2E/R8EH| (192 (200) 1 25 37 7 31 26 43 100
Rl (268) (264) 4 21 30 31 15 25 61 100
ol AB s (309) (315) 6 29 35 15 15 35 50 100
B (317) (317) 27 42 15 7 8 70 23 100
DE/RSH (106) (104) 7 27 19 10 36 34 30 100
HICA| B8 (770) (762) 15 31 23 20 10 46 43 100
=5 o tsstH E8 (170) (177) 3 30 37 2 27 34 39 100
HEE (53) (54) 2 36 25 7 30 38 33 100
RE/R8H @ @ 0 0 15 0 85 0 15 100
asod 38 "It (394) (390) 30 52 8 2 8 82 10 100
%;° 23 "ot (545) (549) 1 17 39 28 14 18 68 100
RE/R2S8HE (61) 61) 0 19 16 0 65 19 16 100
28w =HE g (401) (397) 29 52 8 3 8 82 11 100
msp | =RE ¢ (537) (540) 1 17 40 28 14 18 68 100
RE/RSH (62) (63) 0 15 15 0 70 15 15 100
2ot =M FE-ole X (449) (445) 26 49 13 2 10 75 15 100
ol Al HE-og A (466) (469) 2 15 37 32 14 17 69 100
E/58H (85) (86) 0 21 29 4 46 21 33 100

12



